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B1-3/D11: 7613-RE

ELE 2ME : Electromechanical Engg. Conversion

Com o 3 1 loiyTe

Note:

b)

0.3 a)

615 RE

Magigarn Marks © 100
Atternpt Aay Five question. Selecting at least one
question from each wnit. Coch Question carmes
cCual merks

UNIT -}
Ohscuss how will you describe magnetism around a
OO d 10

Discuss what are frictious] and copper losses. 10

A trauslormer s operated ut rated frequency butat a
voltage hugher than ws rated value. Explain how the
following quantiies wonld changc,
") Na lpad current.

L) Hysieresis loss

ch Eddy cusrsm lpss 4xi= 12

Wt ase ths condetiun for parallel opcaiton of the
&

transtolenee?

Show that e torque developed in s doubly excited
mguelic dysiem s equal W ehe 1afe of increusc of
fcld energy with respect to  dasplacement at
CONSLUnt QUILCHLS. 10
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b

Q4 )

b)

)

ch

tor a singly excited magnetic aystem derive thc
relation [or mognetic stored energy n o termis of
reluctance. 1

Show that the cffcct of armature mmf an the main
field is endircly cross magnetizing, 10
Expluin theee types of chancteristics of a DC
peacrator. Why do the external charucteristics of a
shunt generator twm back as the geoerator i3
overloade!? http://www .kuonline.in 10

Why s il aol advisabie w stant wound colur
industion motors by the methods cmployed for

starting cage indoction maoiar, 7
What is the objeclton to the reduced vollage
starting of polyphuse induction moror? &

What are the causes of an induction motar
operating always at lugging power factors. T

Q.6 A i KW, 3 phase, SU Hz,4 pole induclion motor has a
fuil ioac slip of 0.93. mechunical and stray load losses at
tull Joad are 3.5% ol uuiput power, Compute

a)

b

e)
Q.7 a)
7613-Iy

Power delivered by stator ta rolor
Electromagnetiv (intermal) torque at ful) load

Raotor ohmie losses at fuli Joad 20

Lixplain the differcuce berween cylindncal rocor
theory and two reaction theory. 8

2 Conid,



b)
Q8 a)

b)
T61I-RLE
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A salieat pole syachronous is connected to infinite
bus. If its field current is eexluced 10 zero, will it
S¢Op or continue ruomng? If the latscr, what will be
its speed at what Joad angle will it fal) out of alep
with zero ficld cunrent, 12

Explain how the gapl hatween the p.fand ficld
current can be obtmined from the V curves of a
synchronows motor. 1o

A S MVA, 1l KV,50Hz, 4 pole, star comnected
synchronous pgenerator wilh synchronous reactance
oF 0.7 per unit s connected 10 an infinite bus. Find
symchronizing power and the corresponding 1orgue
per unit of mechanical ungle displacement.

ua}  atno lood
b}  stfullload of 0.8 p.t lag rg
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